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Upwghpp Opbuunhp U gnpdwnhp dwpdhuubp, whnwlwy Yuwnwwpnud
Pwdhu 01 funiip 1 quu 1 dpwghp 51
Uwypwliptip 10083400
Upnwuwhdwiywh gnpéninnuiubph qény dwjuubp/ hnnyjwé 4222/, nphg 2000000
[uypwinndutinh dtnpptipnu peuc | npws [ 2000000] 2000000 1
Spwubtywlwyht Wnipbp U whunnypubp/ hnndwé 4261/, nphg 920000
30197631|f@nina / A4 dnpdwinh (21x29.7) PLUL winih 2400 345600 144
30197231| Rnpwwwlwl wnihibpwhl punulp, $u) POUL huwn 20 20000 1000
30197232| [npwwwlwl / wpwgwlwp, pnpjw PLUL hwwn 70 7350 105
30197233|(3npwwwlwl / pnph, phiny PLUL hwn 70 7000 100
30197234|Rnpwuywlinl / prpwwwtiul Gnon Guqdng POUC huwin 850 102000 120
30199232|0nwp / ukd, A4 $npdwinh hwdwp PLUL hwn 70 5460 78
30192121 nhs / qunpljudnn FOUC Rt 100 41700 57
30192128|%hs / qaujht - FOUC hwm 100 70000 200
30199420|@ninp Upnuwiubiph hwdwp/ unubidwépni| PLUL unnuh 200 34600 173
30199430] Lpnuiutiph pninpe / tnpgwljubipny PLUL wnnith 500 30000 60
39263200] Hpwublywlwiht ghpp, dwwnjwl PLUL hwuwn 450 45000 100
30197321 Ywiphs (unbiuybn) ROUC hwn 1600 40000 25
30192710) Unubidwiwinhwn, gpuubtjwljwihtu PLUL hwn 160 10720 67
39263310{Opwgnyg utinwuh PLUL hwwn 550 8250 15
30192720] Sdwiiphs (Uwpltip) PCUL hwn 250 9000 36
30192136|Uwwnhwin gpwhints inbinwnpynn dheniny PCUL hwwn 250 12500 50
30192137|Uwnhun gpuhint dhgnigny ROUC hwn 90 13500 150
30197111 4wphgh dbnwnwiwpb Ywwbp/ thnpp PLUL nnuh 90 6300 70
39292510{Lwunl, wjwutnhly PLUL hwin 200 6000 30
30192114 Rwuwp, Yuhph pwpdhyh hwdwn PLUL hwuwn 300 12600 42
30141200 <wpqwuwpp mwlqmummnn) qpuubljwluhu PLUL hwwn 1300 32500 25
39263510 Ubtindwy (Yhwu) / thnpp PLUL hwuwn 10 500 50
39263520 Utindwly (Yhwu) / dheht PLUL hwuwn 20 1600 80
39263530|Utindwy (Yihwu) / Jtd PLUL hwn 30 2100 70
30192100| Mt hwuwpul PCUL hwn 120 12960 108
30192750| $|ndwunbipubiph hwjwpwaént PLUL nnuth 550 11000 20
30192760 Unhs unynpwljwt PLUL hwn 200 6400 32
30197331 "hulhs pwuntuny PLUL hwwn 1700 34000 20
30199231 | Lwdwyh épwp AS duwswihh PLUL hwin 30 2100 70
39241210 Upwin / Spwubiyjwljwht PLUL hwn 370 12210 33
22811130|Shwnp 24 o PLUL huwin 250 17500 70
22811130|Stwnp 12k PLUL hwwn 30 2550 85
30192160 | Pwnwnpwljnya / anphfu PLUL hwn 200 7000 35
Spwiuwnpunwiht tynpkp/ hnnwé 4264/,nphg 5863400
Udnnywhbunwiwubp - Lhyw dwlihzh
34321130 | Ungbywldwb Ynénul PLUC Ynduy. 10000 10000 1
34331300 <nywignighs PLUC huwin 20000 20000 1
42141200 | “4wpnwbiwiht (hubin fuwsniutipny PCUL Yndw. 80000 80000 1
34331300[Yunh hbuwpwy ROUC yndwy. 12000 12000 1
31120000 | Shubpwwnnp PRUL hwn 35000 35000 1
34331300 | Ygnpnuwl uuwnuwy FOUC hwn 25000 75000 T
34331300 Prulydwl Gnnutp POUC huwin 5000 5000 1
34331300 ®nly PLUC Ynuuy. 1000 1000 1
34331300 Wbt dGhuwlhqd p POUC huwin 25000 25000 T
44551100 [2uwywwl PLUL Ynduy. 30000 30000 1
34331300|dwnnyph Yuydwn PCUL Ynuy. 5000 5000 1
34331300|Unuynpun dwfu, we PCUL Ynduy. 18000 18000 1
34331300 | Qtpdwlyuhy PLUL hwwn 4000 4000 1
[ 34337300 J6nph wnqbWGUwWy Gnuwy [2]l0 04 hwmn 3000 3000 T




34331300] 164N pun; POUC noy. 15000 15000 T
34331300 | Upgbjwliwt giuwdnp qut PLUL hwun 7000 7000
34331300 4gnpruiwt qfuwynn gt POUC hwn 7000 7000 1
09211100{3n1n - PLUL (hwp 2000 10000 9
34326100|3ninh qunhg PLUL hwin 1000 1000 1
34326100|0Onh quhg PLUL hwn 1000 1000
Uynnywhbunwdwubp - <niunuy dwijthy
34331300 | Utijuwnynn PLUL hwwn 35000 70000 2
34331300 4gnpnuwy ufwywnwy PCUL hwn 40000 40000 1
09211100 3nintip PLUL thwp 2500 25000 10
34326100|3ninh quhy PLUL hwn 4000 4000 1
34326100[0nh qupy FOUZ hwn 5000 6000 T
34331300 |<tinlup wpghjuydwl Ynénuly PLUL Ynduy 10000 10000 1
34331300 Unglip winqbjwlyduwl Ynénuy POUC ynuy. 15000 15000 1
34331300{®ny PLUL hwin 15000 30000 2
34331300 Fnpdwnypg POUC hun 85000 85000 T
Uywnnywhbunwdwubp - Uninh dwitihy
34331300|Ungluh wpghijwldwl Yndnwy PLUL Ynuuy. 13000 13000 1
34331300 [ <tunlih wngbjwlydwl Ynénuwy POUL nuyy. 10000 10000 1
33141121 |Ubndhgubinh Yndwybiln (htnlh - wnglih) PLUL Ynduy. 30000 30000 1
34331300 bnly RrLUL hwwn 15000 15000 1
34331300 ®nlh aqiuwl hnnduwy AOUC huwn 75000 15000 T
34331300 |Uwnnuyhgw PLUL hwn 20000 20000 1
09211100|3ninkip PLUL thwp 3000 15000 )
34326100{3ninh qunhs PLUL hwin 3000 3000 1
34331300 4wnngph Yuydwn ywpbiph Ynuw|. PCUL Yndwy. 16000 16000 1
34326100|0nh qunhs PLUL hwn 4000 4000 1
09132200 Pbughts nbgnuyjwp [74 thinp 305 3477000 11400
09134220 | "hqbyuijhts Yuintihp (en 590) t< thwp 294 1646400 5600
Ubtgwnujht b hwipwht utiunh tynyptp/ hnnwés 4267/, nphg 400000
39831241|O6wn / dtinph PLUL hwin 260 67600 260
39836000 U4ty PLUL hwn 750 3750 5
33761000]2niqupwlh pninp / nnynuny PLUL hwn 100 42000 420
39224331|"Hny|, pwu/ nny| wjwundwuwjhg PCUL hwwn 600 5400 9
39224332 |, pwiu/ nny| ghtljwuyuin . PLUL hwn 1300 10400 8
39224341 2wdpynin (wnpwpln) / wwundwuwjhg PLUL hwwn 600 7800 13
39224342| 2wdpjnin (wnpwpln) / dbnwnw PLUL hwin 1600 11200 7
39513200 anpt, wuaknnghy ACUC huwtn 105 31500 300
19641000| InihkphiEUwWhY wnwpwlutin, wuwply/ Unph hwdwp PLUL hwin 10 14520 1452
39835000 | <wwnwly dwpphint &nn PLUL hwwn 1000 8000 8
39831261]|06wnh nwpw / O6wnh wnwh PLUL hwn 250 6250 25
39831244]|06wn / nunbuwljwl PLUL hwn 150 9000 60
39839100 dnquiphwl (uwdnly) / Unp hudwpbint huduwp annnu/Ubunwniw RCUL hwin 1400 8400 6
39839200 %nquiphwl (uwynl) / Unp hwdwplbine hwdwp/MNwundwuuwhg PLUL hwn 130 780 6
39811300|<nwinwqtindhs (nqnnnp PCUL hwwn 370 29600 80
39812410 4whnyph thwyibguwl dheng PLUL hwwn 600 18000 30
39831271|Uwyniug/ Uwhﬁ?nwnwhhqhbbhu Upwlwlnipjwl PCUL hwwn 50 4000 80
39831272|Uyniug/ Udwl (Juwliwint PLUL hwn 30 2400 80
39838000 Uyk| gnqupphwlh htin/ PLUL hwn 1400 12600 9
39831242|Lywgph thnph &tinpny [Jwlwint hwdwp PLUL Uag 885 26550 30
39514100 Pwdpwljw Jwhbjwbdwl fuwdnin upphstbin PLUL hwn 1500 66000 EX)
39522330 | <wwnwly dwppbint onp PLUL hwwn 750 8250 1
39522330|Uwppnn Yunpubip PCUL wnnith 150 6000 40
Swinnly bywinwlwyht wy) tynipbp/ hnnws 4269/,nphg 900000
31521220]Lwdy’ Eynund, 404din,19040, E27, 2204 PRUL hwin 1500 45000 30
31521420|Lwdy’ ynuihubugblnwht, 184w, 2204 PRUL hwtn 500 10000 20
31588100| by blnpwlwl Jwpnwl' dhwplbn, bpphu dnbnwdh-hnnwlgnuing PLUL huin 650 13000 20
31681610] b blwnpwlwt wwwhndhs, dhwwg 32A PLUL hwn 950 28500 30
31651400) Ukilynwihs dwwwybliubin PLUL J 200 20000 100
31221180 Lwidwbinh Unpwnbbip dtd gnlniny PLUL hwwn 100 2000 20
31221180| Lwdwbiph Ynpwnltip Ywiundh wnwunwnh hwdwp PLUL hwn 400 8000 20
31321190 by lyunpuluits jwin'2*4dd PLUL u 250 25000 100
31512360| Lnwwpdwlutip (LY 504w:n PLUL hwn 40000 160000 4
31521240]Lwduyy’ Eyntind, 954, 26044, E27, 2204 PLUL hwn 2300 57500 25
31531100| &y bynpuwliw jwidwbp (LY 504 PLUL hwn 5000 100000 20
44411110]2nh dnpuwl, thwlwl PLUL hwn 1500 15000 10
44411120)2nh dnpwly. 2 thwlwb PCUL hwin 3500 28000 8
44163171 Hawnhub funnndwlyl, 1/2 PLUL u 300 45000 150
44163172 tanhub funnndwlil, 3/4 PLUL u 350 54250 155
44163173 MHwnhubs funnnywy3, 1 PLUL u 650 100750 155
44423240|Uwbnninp dbnwnjw PLUL hwin 15000 30000 2
44322100|dunitbu. hwdwlwnpgsh, UTP cabele 6 level PLUL ) 95 28500 300
44192610] dbitu, shtwnpwnwljwl PLUL Ug 700 10500 15
44192620| by, dEnwnulwl ) PLUL Ua 800 12000 15
39299320 Cwjtijh, wnwug opowtiwlih PLUL u2 8000 32000 4
24911200|Unuht, Ednyuhw PLUL Ug 1250 5000 4
44521120| "tnwl thwlwliubp PLUL hwwn 3500 70000 20
Upfuunpwtiptibip 225000
Stnblwndwlwt swnwympymutbp/hnnwé 4234/, nphg 225000




79821170[Unpwhwbmrajwh uinpuutiph L wuwydwuwgpbinh wwywgnip)niu RLUL npwd I 225000] 225000 1
Ownuwynipynitiibp 12447000
Eubipgtinhly dwnwinupinit/hnnyws 42127, nphg 7000000
65311100 | kjaunpwlwunieuwl pwstunud PLUL nnwy 4500000 4500000 1
65211100|quah pugfund AOUC nnwo 2500000 2500000 1
Undntiw) Swnwinipni/hnnyws 4213/, nphg 350000
65111100 | fudbijnt oph pwptunid POULC npwd | 350000] 350000] 1
Ywwh Swnwinipiniu/hnnyws 4214/, nphg 1186000
64211120 dhgpwnwpwiht hnwfunuwht dwnwjnyzniittn PLUL npwyd 1000000 1000000 1
72411700 |nndbuwjhl wujwunwubp PLULC npwd 12000 24000 2
72411100 [hnuinhtg dwnwjnipntl PLUL wihu 5500 66000 12
72411100 | hunbipubin PLUL wdhu 8000 96000 12
Uywhnyugpulwl swnwjnpiniu/hnnws 4215/, nphg 145000
66511170 (infuwnpwdhgngutiph htin Yuwyyws wuywhnywgpuiywt dwnuyniajniuutin AOUC e 145000 145000 3
Cwiwlwpggwiht swnwynipjnitiibp/hnnywé 4232/, nphg 246000
«Stinbljwindwlwl hwdwlwpgbiph quipqugdwl b Ybpwwywinpwundwy
72511100] » CY PLUL wdhu 15000 180000 12
Unpwhwbnipjw Ydwnputinh hwajwniwl wnbntwngdwlul pwquyjh
72311140 bhnerlmd'hwdwlqumqgnlu. puwlsnipiwu gdny Ydwpnnutinh pwnuibiph Uu i} 66000 66000 I
Lbplwjwgnigswljwt Swhuubp/hnndws 4237/, nphg 3000000
98391lsolbupuijgmgzwumh, wpwpnnwlwnguwht dwnuwjnipjniutibip mp npwd [ 3000000] 3000000] 1
Vwutwghnwlwl dwnwjnipjniutbp/hnnywé 4241/, nphg 40000
Swquuwwnidwt hwdwlywpgh wnbubhlwwl uwwuwnplydwu
76131100 Swnuimiint PLUL npwd 40000 40000 1
Ubpbuwtbph b uwppwynpnudubph pupwghy unpngnud L
Wwhwwunui/hnnywé 4252/, nphg 480000
50530000 Nwwnékuwhwunn uwpph pwppphgh thgpwynpnd PLUL hwwn 20000 240000 12
50311240 | Mwwnbuwhwnn uwpph  pupwghl Yapwunpngnud PRUL hwtn 20000 40000 2
50530000 Swnn uwnptiph pwppphgutinh (hgpwinpnu PLUL hwwn 2000 200000 100
Uwpwlptbn 1000000
dwpgwlwl uwppwynpnuiubp/hnnws 5122/, nphg 1000000
30211280 | Cwiwlywipghy ) PLUL npwd 246000 738000 3
30232110{Suhg uu hwn 56000 168000 3
30232110{Sujhy uu hwwn 94000 94000 1
Opwghpp Cunhwnip punyph Swnwynipjnitiibp
Pwdhu 01 funwip 3 nwu 3 dpwghp 55
Uwpwtiptlip 130000
Spwubtywluwht Wmpbp U whnnyptbp/ hngdws 4261/, nphg 60000
30192121|9phs / qunhlwynp LYUG PCUL hwn 100 2200 22
30192128|%nhy / qbjwhu LYUG PLUL hwn 100 2000 20
30192137 Uwwnpin gpwhint dhoniyny L4US PLUL hwn 90 1350 15
30197232) Enpwwwtiwl / wpwgqwlup, pnejw 24U PLUL hwwn 70 2030 29
30197233 | @npwywliwl / ppb, phiny LYUS PLUL hwwn 70 2800 40
30197234| @npwwywbiwl / prpwujwlul Ynaun Yuquny L4US PLUL hwun 850 8500 10
30192100( Nwnh hwuwpwy LYUSG PLUL hwwn 120 600 5
30197331 Huljhs pwtinuny L4US RPLUL hwwn 1700 1700 1
30197321 Ywphy (unbiwytin) L4US PLUL hwin 1600 3200 2
39263310|Opwgnyg utinwuh LY4US PCUL hwn 550 1100 2
39241210{Ulpwin / Spwublywluht L4US PLUL hwn 370 370 1
30199420 f@ninp Upnidubiph hwiwp/ unubidywdpny LYUS PLUL nnuh 200 1200 6
30199430| Lynulutiph pning / wnpgwlubpny LYUG PLUL nnuwh 500 3000 6
30197631 @nwnp / A4 $npdwinh (21x29.7) LYUG PLUL wnnuth 2400 28800 12
30192720(qdwliph (dwpltp) LYUS PLUL hwtn 250 250 1
30197111} “wphgh dbnwnwiwnt uwbp/ thnpp L4US PLUL wnnuh 90 900 10
Ubbiqunwiht b hwiipwiht utiunh Wmpbp/ hnnwé 4267/, nphg 40000
39831241{06wn / dkinph RYUS PLUL hwn 260 5200 20
39836000 Ut R4YUS PLUL hwwn 750 4500 6
33761000|2niqupwlh pninp / nnynuny LYUS PLUL hwwn 100 2000 20
39522330 | Cwinwly dwppbijnt onp LYUG PLUL huwin 750 3000 4
39224341 [Rwdpjnin (wnpwplyn) / wiwundwuwhg L4UG PLUL hwwn 600 3000 5
39513200{(@nph, wudtinnghly L4US PLUL hwn 105 3150 30
19641000] Minjhkphibuwht wnwpwyutp, wwpl Unph hwdwp 240G PLUL hwn 10 560 56
39811300 <nwnwqbipdhs (niqnnnp) LYUG PLUL hwn 370 740 2
39831271 |Uwynitig/ Uwbihunwpwhhghbtihly Upwlwlnipiwl LYUS PLUL hwn 50 500 10
39838000 Uty gnquiphwljh htinn/ LYUG PCUL hwwn 1400 2800 2
39514100 | Pwipwlyuw Juwhbjwudwl fuwnin upphsutip L4US PLUL hwun 1500 10500
39522330 Uusbinnghly (Ynnphg gntuwifnp) R4US PLUL wintth 150 4050 27
Cwunnty byywinwlwihts wy) wynpbp hnnjué 4269 30000
31521220 {Lwy’ tynund, 404in, 1900, E27, 22011 PUUS PLUC hun | 1500] 15000 10




31588100| bitilinpulut Jwpnwl' dhwpltin, Utinpht dntnwdh-hnnwgniing L4US PLUL hwn 650 5200 8
44192620|Ubfu dawnwnulwu PLUL ba 800 800 1
31681610 KiGYwpwlwl wwwhnihs, dhwhwq 324 L4UG RLUL hwn 1800 9000 5
Ownuynipyniiibp 184000
Ywuh Swnwynipiniu/hnnywé 4214/L4US, nphg 160000
642]1120'Uhgpwquwjhu htinwfunuwjht dwnwjnie)niutbin PLUL npwd I |60000I IBOOOOI 1
Ubpbuwubph U uwppwynpmudubph pupwghy unpngnud b
wwhwywunuw/hnndws 4252/, nphg 24000
50530000 Suinn uwnptinh puppRhgUliph (hgpuinpnus PLUC hun | 2000| 24000} 12
Opwghpp  Cunhwunip punyph dwnwjnipjniutbp
Pwdht 01 funuip 3 nuu 3 spwghp 55
Cwdwlwnpgswiht Swnwinipiniutibp/hngywé 4232/, nphg 259200
Swgh Ywnwwpdwl Spwgpuiht wuwhnydwl dwnwjnyeniutibn
72211125| (ORACL gnypuihwinljh i hnnh huiplh uyjwuwplnu) POUC wdhu 21600 259200 12
Upwghpp  Cunhwlnip punyph hwipwiht Swnwnipyniutbp (w)) nwubpht sywnlwunn)
Pwdhti 01 funuip 6 nuu 1 dpwghp 51
Ownuynipynibinbp 3921982
Undnibw) Swnwjnipinitibp /hnndwé 4213/ 3188482
9837IIIIIQEnhqdwambhnh 2whwgnpdiwl wwhuwwudwu dwiuubip me npwd l 3188482[ 3188482 1
Vwubwghnwlwt Swnwynipjniiibtp/ hnnwé 4241/,nphg 599500
70000000 Utpwpd gnyph htinn Yuwywsd Swnwjnieniuitin POUC npw 340000 340000 1
71241200 Lwhiwgdtiph wwinpwuwnnu, dwhiubph quwhwnnu PLUL npwd 80000 80000 1
73432100 Ujnipwlwl wpdtiph quwhwinnud PLUL npwd 30000 30000 :
71311360|Chuptiph  swihwgpdwl Swnwjnipjniu pLUC npwd 149500 149500 1
Lyhpwwnynipynitiubp wyp gwhnype shbnwwunnn
Yuquwlbpympniuubpht/hnnyws 4819/,nphg 134000
99600000 | Cwiwsjiplibinh Whniejul whinwiwdun q2m npwd | 134000| 134000 1
Uphuunpuitiptibip 10616618
Chpbiph b phunipyniiibph Yuuhwnw) Jepwunpngnud/hnnué 5113/,nphg 10616618
Fuwlwpwlwht $nunh puquwptwlwnwl 2Eupbiph punhwtnip
45261124|pwdubidwu hwunhuwgnn nwpwépltinh, nwuhpubph wwhwwbnu L
Ybpwunpngnd me npwd 4116618 4116618 1
50000000 <wiwjupwiht Bupwlwjnipiwt opjiywnutiph U LNRE - tph
wwhywbdwb b Japwunpngiwt dwhuutip me npwd 4500000 4500000 1
Cwiiwyupuiht gpunwpwh dwutiwgbiiph Ywwhinw| Japwtnpgiwt
45610000 |wouwinuipbp Uu npwd 1000000 1000000 1
Yhnpnbwywt U. Pwunpudjul tinqngh guiwwwinbiph hhduwunpngnud
45441130 Jubipjuwwwnnuwing uu npwd 1000000 1000000 1
Opwghpp  Swuwwywphwiht npwiuwynpn
Pwdht 04 funudp 5 nuu 1 dpwghp 51
Upfuunputiptibip 17500000
Chupubph L 2htimpymutibph Yuwyhwnw JEpwinpngnu /hnnpjwé
5113/,nphg 17500000
45231197 [®nnngubiph thnuwjht Ybpwlnpngnud, bqpwpwnbph ninnnud ybpuwiguwipny me npwd 8000000 8000000 1
<nnujht wwuwnwn nkgnn thinnngubph wywquigupwpuht
45231220 jubwwwnny, ybpht wwunwnh nunn - hwpplignud mne npwd 8000000 8000000 1
34921140 Lbiphwdwjupwjh wbwwjwphttiph gdwtonud W nww$npught opjtiljinh
wwhwywudwy b wpnhwywbwgdwl dwfuubp me npwd 1500000 1500000 1
Upwghpp  Spwuynpinh gény htnwgnunwljw b bwfuwgdwh wfuwwnwupubp
Pwdhu 04 funuip 8 nuu 5 dpughp 52
Uphuwpuwtiptibp 500000
Lwfuwqéwhbnwgnnwlwt dwhuubp /hnnyws 5134/,nphg 500000
Cwdwjuph nwpwépnd shtiwpwpwlwl L ubphwdwtpwh
71241200 [6wuwwwphubiph Ypwunpnguiwt bwiuwgéwhbinwgnnwljut
wphuwnwupbph dwhuubip PLUC R 500000 500000 1
Opwghpp  Unpwhwtined )
Pwdht 05 funuip 1 nuu 1 dpwghp 51
Uwypwptbip 630000
Uy| bpbuwubp b uwppwynpnuubp /hnnwé 5129/ 630000




4421]100'quwdwhbbph abnppbipnud uu npwd l 630000] 630000| 1
Dwnuynipynititibp 52379800
Ununitw) Swnwjnipjnititbp /hnndwé 4213/ 52379800
90500000 Cwdwjuph nwpwéph Yhtgunwiht wnpwhwnyewl U uwbhunwpwlwl
Uwppuwb dwnwynipjnittinh dbnppbipdwt dwhuubip PrC nnwd 52379800 52379800 1
Opwghpp  Tpgwlw dhowyuwyph ww)ynwwunipynit (wy) nuubpht suwnlung) .
Pwdht 05 funuip 6 nwu 1 dpwghp 51
Upfuunpuwtiptibp 8217200
Ununitw) Swnwjnipynitubp /hnnyws 4213/ 8217200
Unbithwiwywl hwidujuph ubwgwwwindwt wohiwunwuptbph
77311600 uyustiwg st husiun duwfuubip t< nnwy 6217200 6217200 1
Luwnuuanywunipjul, wpnwlwng hpwdhbwyubph dhgngwnnuiubiph
90711100 {ywquwybpuwuw, thwy L pwg htinbnwuwpubph, unnuupubiph Jwppdw
wpluwwnwbptbiph  dwhuubip Uu nnwd 1000000 1000000 1
77211600 Cwdwupuyht dwuwywl qpnuwignt dwnbiph bndwl ppwywuwgduwu
wpluwinwuplbip uu npuid 1000000 1000000 1
Opwghpp ®nnngubph nuuwynpnud
Pwdht 06 funuip 4 nwu 1 dpwghp 51
Uphuunpuwtiptibip 5500000
Chupubph b 2humpynibubph jwwhuw) JEpwunpngnud /hnnywé
5113/,nphg 5500000
®nnngutiph ghoipwiht (nwwynpnipjwt punwitdwt b wwhywbdwt
duwiuubip me A 5500000 5500000 1
Ownwympymbtibp 10670400
Eubpgqbinhly swnwjnipymt/hnnwé 4212/, nphg 9000000
65311100 blunpuilutingejuils pusgfunus pOUC nows | 9000000] 9000000 1
Cunhwlnip punyph wy) swnwnipynittitp /hnpwé 4239/ ,nphg 1670400
Lunwpwiht (nuwynpnyaiul winndwin Yunwwpdwl hwdwlupgh
50231100 fuwywuwplynud me npwd 1670400 1670400 1
Opwghpp Kwqunh b uwynpinh Swnwynipyniuutp
Pwdht 08 funwip 1 nuu 1 dpwghp 51
Uwypwliptlip 517500
Spwubtywlw)ht ympbp b hwgnwwn /hnnws 4261/,nphg 517500
03121210[Ownlujht Gniwnqhghutitn FOUC huin 5000 300000 60
03121211 [ownhlutip PCUL hwn 250 37500 150
03121212 | SwnGwuwiutp FOUL huwn 15000 780000 p)
Uphuunpuwtiptiip 4148000
Sknblwuinfwlwl dwnwynipinitbp /hnnws 4234/,nphg 148000
98311160 | Sniuwynp nwjwgpnipniiubin PLUL hwtn 600 36000 60
22311100 | Udwunpjw pwghljubip PLUL hwn 500 65000 130
22311100 |Uwpunh 8-h hwiwp pughlubip POUC hwin 300 19500 65
22451190 | Uwjpbuh |bquh op-wwiningptip PLUL hwn 500 25000 50
22451190 | <nlntidpbiph 1-ht nwipbigutiph op, 2unphwlywjwqgptp PLUL hwn 500 2500 5
Chupubiph L 2humpynitiibph wwhwnw) Jepwunpngnud /hnpwé
5113/,nphg 4000000
45231270| bphunwuwpnwlwl wnipwlh hhduwunpngdwl wfuwwnwupubp PLULC npwd 1000000 1000000 1
Quiuwihtyw onwlwdl hwbgnygh tnwpwaph pwpbwpgiwl
45231270 |wpfuwinwlputip PCUL npwd 1000000 1000000 1
Uwbljwlwu néwbwlubph wwinpwunnd dhnwnwlut
37531210 | yntunpniyghuitipny uu npwd 1000000 1000000 1
Unbthwbwdwl hwdwjuph hwuguinjwt gninnt (ULGU-ULSUNUSHL)
50231200 |ghotipwjhl (nwwinpnipjw hpwwwgnu uu npwd 1000000 1000000 1
Ownuwynipynitiin 4000000
Cunhwtinip punyph wy) Swnwynipniitibp /hnnwé 4239/ ,nphg 4000000
79951110|Utiwnph dhgngunnututin mp npwd | 4000000 4000000| 1
Upwghpp $pwnwpwhtibp
Pwdhu 08 junuip 2 nuu 1 épwghp 51
Cupwghy npwdwytnphtbp whnwlwy b hwdwjuptbph ng walnpuwht
Yuquwlbpynipnitubpht/ hnnywé 4637/, nphg 9300000
99600000 Uunbithwbiwywlih Ybunpntudiyut gpunwpuwl <NUYS-ht nputiupbpn 92M nowd | 9300000] 9300000| 1
Opwghpp Uwlnyph ntikp, wynuipubp, Yeunpnuubp
Pwdht 08 funuip 2 quu 3 spwghp 51
Cupwghl npudwytinphtibp whnwlwt b hwiwjuptibph ng wnlunpught
Ywquiwlbpynipyniuibpht/ hnnyws 4637/, nphg 18063100




Untithwbwywuh W Vwpqupjuth wldwt dulnyph wwiwn <NUY-hu

99600000 | innwitiudbbinin 2M npwyd 18063100 18063100 1
Opwghpp Uy Sawhnipwiht fuqiwlEpyniginiutbp
Pwdht 08 funuip 2 nwu 4 spwqhp 51
Lyhpwinynipynitiibp wyp gwhnyp shbnwwyunnn
YuquwlEpynipniuutpht/hnnyws 4819/,nphg 180000 ‘
79951110/ Fingh wnu 92m npwy 80000 80000 |
99600000 <<Cwjwunwt>> hwdwhw)ywywl hhduwnpuwd npuduwhwwp qaM — 100000 100000 1
Opwghpp <Ennwnwnwnhnhwnnpynuiubp
Pwdhu 08 funuip 3 nuu 1 dpwghp 51
Ownwynipnibibp 1290000
Stnbjwindwlwl swnwynipyniutibp /hnnwé 4234/,nphg 1290000
Cwnnpnuwph wwinpwundwb b dwpquihb henwpdwlnud niutignn
hbnnwwnwpuybpnejw bpbpnw hbnwpéwldwy Sdwnw)nipnuubinh o< npwy 1290000 1290000 1
64235180 |atinpptipnud
Opwghpp Sknb{winynipjwi dknppkipnud
Pwdhu 08 fjunuip 3 nuu 3 épwghp 55
Uwypwliptlp 444820
Stnbluwindwlwb swnwynipynitibp /hnnwé 4234/,nphg 444820
92411100 Lnnnt dwpq phpp PCUL npwyd 40000 40000 1
92411100 | Nwnnuwywt nbnklwghp PLUL npwd 186000 186000 1
92411100 Hnndp wiiuwghp PLUC hustn 6000 72000 12
<<tynundhlw L bpwyniup nbnblywindwlwl hinwgnnwlwy
92411100 | 4tunpnus> RCUL hwin 4250 51000 12
92411100)<<Snndplpwg>> phpph pwdwunppwgpnig)niu PLUL npuwid 4800 4800 |
92411100 | <<Upinwlung plipp>> Jwpwpwpebpeh pudwunppwgpnipiniu PCUL npwd 6720 6720 1
92411100 <<Uppnieinii>> plipph pudwlnpnugpninu PLUC nnwd 9900 9900 1
92411100 | <<Unwynwn>> plipph pwdwunprugpnysniu PLUC hwn 48400 48400 1
92411100 Cwjwunwih hwupwwbnnyainiu phpph pwdwunprwgpnipntu AOUC —_ 26000 26000 1
Ownwynipynitiiip 310000
Ywuh swnwynipyniuibp /hnnyws 4214/, nphg 250000
64111200 | Pnutnwjhts dwnwjnipjnitiibn’ Guiws Uwdwiutnh hbw POUC npud | 250000| 250000| 1
Stnblwndulwb swnwynipynitibp /hnnwé 4234/,nphg 60000
92421100 | Cwjwunwuh hwpwwbnnipini hwjnwpwpnipgniu PLUL npwd I 60000' 60000[ 1
Opwghpp Lwhiwnypngwlul Yppnipiniu
Pwdhu 09 funuip 1 quu 1 dpwghp 51
Cupwghy npwdwytinphubp whnwlwl b hwdwjiptbph ng wnlnpuwght
Yuqiwybpynipyniutbpht/ hnnyws 4637/, nphg 117503600
99600000 Untithwiwyuwuh phy 1 LA <AUY-hU wipwbubbpun q2m npwy 28881400 28881400 1
99600000 |Untihwiwjuith phy 2 LN <NUY-hU tpwtiubnn q2m nnwd 9419600 9419600 1
99600000 Untihwbiwyuwth phy 3 LARK <NUY-hU ipwludbipn g2m npwd 21424500 21424500 1
99600000 | Uwntihuitiwfwitih phy 4 UNRE <NUY-hU mputiubnm q2M nnwd 30078100] 30078100 1
99600000 Untithwlwiwuh phy 5 LN <NUY-hU npuibiudbipin q2m npwd 27700000( 27700000 1
Wyhuwputiptitin 2000000
Chkupubph b phumpymuttph Yuwhwnw JEpwiinpngnud /hnngws 2000000
Untithwbwywuh phy 3 LNRK <NUY-h hhduwunpnguwl wpluwwnwuplbp
45000000 uu npwd 1000000 1000000 1
Unbithwtiwywuh phy 4 LR <NUY-h wpinwpht b ubppht
45330000 enuiwnwlywpwpiwl hudwlwpgh hhibwunpnguwl watuwnwlputn Ul _ 1000000 1000000 |
Upwghpp Upnwnuypngwljwl nuuwnhwpuwlniyentt
Pwdhl 09 funtdp 5 nuu 1 dpughp 51
Cupwghy npudwztinphubp whnwlwy b hwdwjupubph ny wnlunpwyhtu
Yuquiwlbpynipyniutpht/ hnnwé 4637/, nphg 68225100
99600000 |Unbithwwwuh Upgbuwnh nuypng <NUY-hu ipwiiudbpen q2m npwd 49125100 49125100 1
<< Lnnnt dwipgh Unbithwitiwywth dwtiluwwinwbywt dwpquinwpng
99600000 <NUY-hb npwlubbipn q2M nnwd 19100000 19100000 1
Upwghpp Unghwjwlwt hwnnily wpinntunipyniutbp (wy nuwubpht swwwnlwtnn)
Pwdhti 10 funwip 7 nuu 1 dpwghp 55
Lyppwinynipyniiibp wyj gwhnyp shEnwwylnng
Yuquwybpynipjniiubpht/hnnyws 4819/,nphg 1500000
995000°0|thnwmdm@ nit Unbthwlwdwt Bt q2M npwd | 1500000] 1500000] 1




